Nortec GS 50-600

1"
110

105

3

170

10

Figure 1: Nortec GS 150 Humidifier, Heat-exchanger and Blower



Parts List — Nortec GS 50-600

Item

No.

Item Description

Details

GS 50

GS 100

GS 150

GS 200
GS 300
GS 450
GS 600

Condair Part
Number

100

105 SP, GS, Heat-exchanger (secondary), Compact

106

107

110

M

115

116

17

120

121

122

123

SP, GS/SE, Sensor, Tank thermal
Kit consists of:
Sensor, 1-1/2 in (38 mm) probe

Kit consists of:

Heat-exchanger, secondary (qty. 1)
Gasket, sanitary flange (qty. 1)
Gasket (qty. 1)

Plug, pipe 1/2 in NPTM, SS (qty.1)

SP, GS, Heat-exchanger (secondary), Full-size

Kit consists of:
Heat-exchanger, secondary (qty. 1)
Gasket (qty. 2)I
Plug, 1/2 in NPTM, SS (qty.1)
SP, 10X Gasket, Sanitary Flange, 3 in, Sil
Kit consists of:
Gasket, Sanitary Flange (qty. 10)
SP, Clamp, Wing Nut, Sanitary, 3 in, 304 SST
Kit consists of:
Clamp, Wing Nut (qty. 1)
SP, GS, Gasket, Secondary Heat-exchanger
Kit consists of:
Gasket (qty. 2)
SP, Adapter Exhaust 80 mm
Kit consists of:
Adapter (qty. 1)
Gasket (qty. 1)
Screw (qty. 4)
Nut (qty. 4)
SP, GS, Manual Drain Valve, Compact
Kit consists of:

Valve, 1/2 in NPT x 3/8 in compression (qty. 1)

P-Trap, pressure port (qty. 1)
SP, GS, Manual Drain Valve, Full-size
Kit consists of:
Valve, ball 1/2 in NPT (qty. 1)
Elbow, 1/2 in NPT to barb (qty. 1)
SP, GS, Drain Casting
Kit consists of:
Fitting, drain cast (qty. 1)
Gasket (qty. 1)
Nut (qty. 4)
Screw, M6x20 (qty. 4)
O-ring (qty. 2)
SP, Drain Casting Gasket
Kit consists of:
Gasket (qty. 5)
SP, GS, Drain Pump Assembly, 60 Hz 24 V
(refer to Figure 3 on page 17 for details)
Kit consists of:
Pump, drain (qty. 1)
Bracket (qty. 1)
Screw, #10-32 x 1/2in (qty. 4)
Setscrew, M4x10 (qty. 1)
O-ring, (aty. 1)
Clamp, worm drive (qty. 1)
Wasbher, flat (qty. 4)
Washer, lock (qty. 4)
SP, 20X Screw, 10-32x0.5 in
Kit consists of:
Screw, Machine, 10-32x0.5 in (qty. 20)
Washer, lock (qty. 20)
Washer, flat (qty. 20)
SP, 10X Screw, M4x10
Kit consists of:
Screw, Machine, M4x10 (qty. 10)
SP, 10X O-ring, .9375x.103 in, Sil
Kit consists of:
O-ring (qty. 10)

160 °F (71 °C)

Model CS/NX only

Model CS/NX only

Model CS/NX only

(included in item 116)

=

=

1

1

1

2584507

2584711

2584712

2592490

2592493

2584494

2593541

2584713

2584714

2589921

2593540

2584503

2592482

2592483

2592484




Nortec GS 50-600

170

Figure 1: Nortec GS 150 Humidifier, Heat-exchanger and Blower, continued...



Item

No.

Item Description

Details

GS 50

GS 100

GS 150

GS 200
GS 300
GS 450
GS 600

Condair Part
Number

124

125

126

127

128

129

130

SP, Bracket Kit, Tank Door Clamps
Kits consist of:
Bracket, side clamp (qty. 2)
Bracket, bottom clamp short (qty. 1)
Bracket, bottom clamp long (qty. 1)
Bracket, top, cleanout door (qty. 3)
Screw, socket cap, M6x40 (qty. 4)
Nut, M8x25 (qty. 17)
Screw, M8x25 (qty. 17)
Cross bar single (qty. 2)
Cross bar, double (qty. 2)

SP, GS, Door, Clean-out (single)

(refer to Figure 3 on page 17 for details)
Kits consist of:
Door (qty. 1)
Anode, sacrificial (qty. 1)
Gasket (qty. 1)

SP, GS, Door, Clean-out (double)

SP Bracket, Bottom Clamp Short, Tank Door
Kits consist of:

Bracket, Bottom Clamp Short, Tank Door (qty. 1)

Nut, M8x1.25 (qty. 2)
Screw, M8x25 (qty. 2)

SP Bracket, Bottom Clamp Long, Tank Door
Kits consist of:

Bracket, Bottom Clamp Long, Tank Door (qty. 1)

Nut, M8x1.25 (qty. 4)
Screw, M8x25 (qty. 4)

SP 2X Bracket, Side Clamp Long, Tank Door
Kits consist of:

Bracket, Side Clamp Long, Tank Door (qty. 2)

Nut, M8x1.25 (qty. 8)

Screw, M8x25 (qty. 8)
SP Bracket Top, Cleanout Door

Kits consist of:

Bracket, top, cleanout door (qty. 1)

Nut, M8x1.25 (qty. 1)

Screw, M8x25 (qty. 1)

Scew, socket cap, M6x40 (qty. 1)
SP, Cross Bar Single

Kit consists of:

Crossbar (qty. 2)

SP, Cross Bar Double
SP, GS, Heat-exchanger, 23 kg/h

Kit consists of:
Heat exchanger, primary (qty. 1)

Gasket, Hx combustion chamber flange (qty. 1)

Gasket, Hx exhaust flange (qty. 1)
Gasket, Hx exhaust flange, inside (qty. 1)
Gasket, burner blower (qty. 2)
Gasket, burner (qty. 1)
Stud, M6x30, threaded SST (qty. 4)
Bolt, M6x10, socket head SST (qty. 14)
Bolt, M6x14, hex head SST (qty. 9)
Nut, Nylon lock, M5 Zn plated (qty. 4)
Nut, flange, serrated 6mm SST (qty. 4)
Washer, lock M6 (qty. 9)

SP, GS, Heat-exchanger, 45 kg/h

SP, GS, Heat-exchanger, 65 kg/h

(refer to on page 16 for details)
Kit consists of:
Heat exchanger, primary (qty. 1)

Gasket, Hx combustion chamber flange (qty. 1)

Gasket, Hx exhaust flange (qty. 1)
Gasket, Hx exhaust flange, inside (qty. 1)
Gasket, burner blower (qty. 1)

Gasket, burner (qty. 1)

Stud, M6x30, threaded SST (qty. 4)

Bolt, M6x10, socket head SST (qty. 14)
Bolt, M6x14, hex head SST (qty. 9)

Nut, Nylon lock, M5 Zn plated (qty. 4)
Nut, flange, serrated 6mm SST (qty. 4)
Washer, lock M6 (qty. 9)

(included in item 124)

(included in item 124)

(included in item 124)

(included in item 124)

-

N

N

2589276

2584482

2584483
2592478

2592477

2592479

2592480

2593541

2593542
2584495

2584496
2593815



Nortec GS 50-600

170

Figure 1: Nortec GS 150 Humidifier, Heat-exchanger and Blower, continued...



Parts List (continued...) — Nortec GS 50-600

Item
No.

Item Description Details

GS 50

GS 100

GS 150

GS 200
GS 300
GS 450
GS 600

Condair Part
Number

131

132

135

136

140

145

150

SP, 10X Gasket, HX Comb Chamber Flange
Kit consists of:
Gasket, Flange (qty. 10)

SP, 20X Gasket, HX Exhaust Flange
Kit consists of:
Gasket, Flange (qty. 20)

GS, Gasket, Heat-exchanger (primary)

Kit consists of:

Gasket, Hx combustion chamber flange (qty. 1)
Gasket, Hx exhaust flange (qty. 1)

Gasket, Hx exhaust flange, Inside (qty. 1)
Gasket, burner-blower (qty. 2, 1 for full size units)
Gasket, burner (qty. 1)

Bolt, M6x16, hex-head, SST (qty. 4)

Bolt, M6x10, socket cap, SST (qty. 14)

Bolt, M6x14, hex-head, SST (qty. 9)

Stud, M6x30, threaded SST (qty. 4)

Screw, socket cap, SST (qty. 2)

Nut, nylon lock M5, Zn plated (qaty. 4)

Nut, flang, serrated, 6 mm SST (qty. 4)
Washer, lock M6 (qty. 9)

SP, Hx and Exhaust Manifold Kit, Burner 1

(refer to on page 16 for details)
Kit consists of:
Heat-exchanger, primary (qty. 1)
Manifold, tank exhaust, welded (qty. 1)
Gasket, Hx combustion chamber flange (qty. 1)
Gasket, Hx exhaust flange (qty. 1)
Gasket, Hx exhaust flange, Inside (qty. 1)
Gasket, burner-blower (1 for full size units)
Gasket, burner (qty. 1)
Gasket, tank 2nd HE flange, single Hx (qty. 1)
Bolt, M6x10, socket cap, SST (qty. 14)
Bolt, M6x14, hex-head, SST (qty. 9)
Stud, M6x30, threaded SST (qty. 4)
Screw, hex hd, ser. flange M6x12 Zn plate (qty.
4)
Nut, nylon lock M5, Zn plated (qty. 4)
Nut, flang, serrated, 6 mm SST (qty. 4)
Nut, M6 Zn plated (qty. 4)
Washer, lock M6 (qty. 9)

SP, Hx and Exhaust Manifold Kit, Burner 2
SP, Hx and Exhaust Manifold Kit, Burner 3
SP, Hx and Exhaust Manifold Kit, Burner 4

SP, GS, Sacrificial Anode, GS/SE
Kit consists of:
Anode, sacrificial (qty. 1)

SP, (included in item 130)

SP, GS, Gasket, Tank Clean-out Door
Kit consists of:

Gasket, clean-out door, single Hx (qty. 1)

SP, GS, Gasket, Tank Clean-out Door
Kit consists of:
Gasket, clean-out door, double Hx (qty. 1)

SP, GS, Spark Igniter

(refer to Figure 3 on page 17 for details)
Kit consists of:
Igniter, spark electrode (qty. 1)
Gasket, spark igniter (qty. 1)
Nut, M4 (qty. 2)
Cable, spark igniter (qty. 1)

(included in item 125)

(included in item 125)

(included in items 125, 145)

=

1

N|a|aa

2592486

2592488

2584492

2593810

2593811
2593812
2593814
2575147

2584484

2584485

2584513



Nortec GS 50-600

105
110

Figure 1: Nortec GS 150 Humidifier, Heat-exchanger and Blower, continued...



Parts List (continued...) — Nortec GS 50-600

Item - . © o o o o o CondairPart
No. Item Description Details g 88888 8 Number
NN n n n o n
0O 0 0O 0 0 oo
151 SP, Cable, Spark Igniter (included in item 150) 11 1 2 2 3 4 2593544

Kit consists of:
Cable, spark igniter (qty. 1)
155 SP, GS, Burner Assembly, Compact 1 = = = - = = 2584509
(refer to Figure 3 on page 17 for details)
Kit consists of:
Assembly, burner (gty. 1) — includes spark
igniter and hardware
Gasket, burner-blower (qty. 2)
Gasket, burner (qty. 1)
Screw, M6%12, hex-head (qty. 10)
Nut, nylon lock, M5 (qty. 4)

SP, GS, Burner Assembly, Compact -1 - 2 - - - 2584510
Kit consists of:
Assembly, burner (gty. 1) — includes spark
igniter and hardware
Gasket, burner-blower (qty. 2)
Gasket, burner (qty. 1)
Screw, M6x12, hex-head (qty. 10)
Nut, nylon lock, M5 (qty. 4)

SP, GS, Burner Assembly, Full-size - - 1 - 2 3 4 2584511
Kit consists of:
Assembly, burner (gty. 1) — includes spark
igniter and hardware
Gasket, burner-blower (qty. 1)
Gasket, burner (qty. 1)
Screw, M6x12, hex-head (qty. 10)
Nut, nylon lock, M5 (qty. 4)
156 SP, 10X Gasket, Burner 1 N 1 BN 1 e 1 2592487
Kit consists of:
Gasket, Burner (qty. 10)

160 SP, GS, Gasket, Burner 11 1 2 2 3 4 2584512
(refer to Figure 3 on page 17 for details)
Kit consists of:
Gasket, burner (qty. 1)
Gasket, burner-blower (qty. 1)
Screw, M6x12, hex-head (qty. 10)
Nut, nylon lock, M5 (qty. 4)
165 SP, GS, Switch, Tank Hi-Limit 1 BN 1 N 1 B2y 2 2586125
Kit consists of:
Switch, temperature (qty. 1)
Nut, M3 (qty. 2)
170 SP, GS, Blower Assembly, Compact 120V, 70 kBTU (20.5 kW) 1 = = = = = = 2586135
Kit consists of:
Assembly, blower with valve, pre-mix (qty. 1)
Gasket, burner-blower (qty. 1)
Tube, 1/8 in (3 mm) I.D. x 9in (230 mm)
SP, GS, Blower Assembly, Compact 120V, 140 kBTU (41.0 kW) -1 - 2 - - - 2584517
Kit consists of:
Assembly, blower with valve, pre-mix (qty. 1)
Gasket, burner-blower (qty. 1)
Tube, 1/8 in (3 mm) 1.D. x 9 in (230 mm)
SP, GS, Blower Assembly, Full-size 120V, 210 kBTU (61.5 kW) - -1 - 2 3 4 2586136
(refer to Figure 4 on page 18 for details)
Kit consists of:
Assembly, blower with valve (qty. 1)
Gasket, burner-blower (qty. 1)




Nortec GS 50-600

Figure 2: Nortec GS 100 Humidifier, Plumbing and Electrical.



Item

No.

Item Description

Details

GS 50

GS 100

GS 150

GS 200
GS 300
GS 450
GS 600

Condair Part
Number

171

172

173

174

175

176

N/S

180

185

190

194

N/S

SP, GS, Link Tube, Blower Burner 23-45 kg/h

Kit consists of:
Tube, link (qty. 1)
Gasket, burner blower (qty. 2)
Nut (qty. 4)
Screw, hexhead M5x16 (qty. 4)
SP, GS, Link Tube, Blower Burner 65 kg/h
Kit consists of:
Tube, link (qty. 1)
Gasket, burner blower (qty. 2)
Nut (qty. 4)
Screw, hexhead M5x16 (qty. 4)
SP, 20X Gasket, Burner Blower 24 V
Kit consists of:
Gasket (qty. 20)
SP, Tube, 24 in, 1/4 in OD, 1/8 in ID Blue
Kit consists of:
Tube, 24 in (qty. 1)
SP, Hose, Blower 2in ID
Kit consists of:
Hose, duct PVC (qty. 1)
Clamps, gear (qty. 2)
SP, GS, Flexible Hose, Gas, Compact
Kit consists of:
Hose, flex gas, 1/2in (13 mm) I.D.
x 16 in (406 mm)
SP, GS, Flexible Hose, Gas, Full-size
Kit consists of:
Hose, flex gas, 3/4 in (19 mm) |.D.
% 36 in (915 mm)
SP, GS, Flexible Hose, Gas, Full-size
Kit consists of:
Hose, flex gas, 3/4 in (19 mm) |.D.
x 60 in (1.5 m)
SP, Connector, Blower Air, 23-45 kg/h
Kit consists of:
Hose, flex gas connect (qty. 1)
Hose, duct 2 in ID PVC (qty. 1)
Air intake, 2 in dia, GS blower (qty. 1)
Clamp, worm-drive (qty. 3)

Tube, 10in, 1/4 in ID 1/8 OD, blue (qty. 1)
Tube, connector, blower air assembly (qty. 1)

Fitting, gas, 0.5 in NPT
SP, Rectifier, 600 V 25 A
Kit consists of:
Rectifier (qty. 1)
SP, GS, Float Chamber Sleeve
(refer to Figure 4 on page 18 for details)
Kit consists of:
Mounting bracket, float chamber (qty. 1)
Float board (qty. 1)
SP, GS, Valve, Vacuum Break
Kit consists of:
Valve, vacuum break, 1/2 in NPT (qty. 1)
SP, GS, Drain Trap
Kit consists of:
Valve, vacuum break, 1/2 in NPT (qty. 1)
Screws, mounting (qty. 2)
Trap (qty. 1)
SP, GS, Fill Box Adapter
Kits consist of:
Adapter, fill box (qty. 1)

Not shown

(included in item 205)

2593546

2593547

2592489

2592485

2593548

2584500

2584501

2584502

2593545

2585377

2584508

1505959

2593551

2593552



Nortec GS 50-600

240

@ \,."\Q
\ ¥

T

Figure 2: Nortec GS 100 Humidifier, Plumbing and Electrical. .



Parts List (continued...) — Nortec GS 50-600

Item
No.

Item Description

Details

GS 100

GS 150

GS 200
GS 300
GS 450
GS 600

Condair Part
Number

195

196

197

198

200

201

205

210

215

220

221

SP, GS, Fill Valve, Dual Solenoid, Compact
Kits consist of:
Valve , fill (qty. 1)
Screw, M4x10 (qty. 2)

SP, GS, Fill Valve, Dual Solenoid, Compact

SP, GS, Fill Valve, Dual Solenoid, Full-size
SP, GS, Fill Valve, Dual Solenoid, Full-size
SP, GS, Fill Valve, Quadruple Solenoid, Full-size

SP, 10X Fitting, Plug .125 NPT

Kit consists of:

Fitting, Plug, .125 NPT Brass (qty. 10)
SP, 10X FTG Elbow, Barbed

Kit consists of:

Fitting, EL, Hose, Barbed,

.375in x .125 NPTM (qty. 10)

SP, Inlet Valve Cable

Kit consists of:

Wire harness, fill valve (qty. 1)

SP, GS, Float Board, GS/SE/NHDI/NHSC
(refer to Figure 4 on page 18 for details)
Float Board Cable

Kit consists of:

Wire harness, float level (gty. 1)

SP, GS, Fill Box Assembly (with floats)
(refer to Figure 4 on page 18 for details)

Kit consists of:

Assembly, fill box (qty. 1) — includes fill box
weldment, tubes, traps, washers, vacuum
break, and floats

Screw #8-32 x 0.5 TA (qty. 2)

Washer 0.197 in (5 mm) I.D. x 0.50 in (13 mm)

O.D. (qty- 4)
Washer, 3/16 in (5 mm) I.D. x 1 in (25 mm)
O.D. (qty- 2)
SP, GS, Fill Box, Body (no floats)
(refer to Figure 4 on page 18 for details)
Kit consists of:
Body, fill box (qty. 1) — with hoses and fittings,
but without floats
Weldment, fill box (qty. 1)
Screw, #8-32 x 0.5 TA(qty. 2)
Washer, 0.197 in (5 mm) I.D. x
0.5in (13 mm) O.D. (qty. 4)
Washer, 3/16 in (5 mm) I.D. x 1 in (25 mm)
O.D. (qty. 2)
Clamp, worm drive 1.56-2.5 in (40-64 mm)
(qty. 1)
Fitting, hose, barbed (qty. 1)
Fitting, plug, brass (qty. 1)
SP, GS, Switch, Stack Hi-Limit, 160 °F (71 °C)
(refer to Figure 4 on page 18 for details)
Kit consists of:
Sensor, high limit, (qty. 1)
Grommet (qty. 1)
Screw, #6-32 x 1/2in (qty. 2)
Bracket (qty. 1)
Retainer, bolt (qty. 2)
GS, Switch, Stack Hi-Limit, 320 °F (160 °C)
Sensor, high limit, (qty. 1)
Gasket (qty. 1)
Screw, #6-32 x 1/2in (qty. 2)
Bracket (qty. 1)
Retaining ring (qty. 2)
SP, GS, Driver Board, GS
Kit consists of:
Driver board and supports
GS, Relay (general purpose)
Kit consists of:
Relay, general purpose (qty. 2)

SP,

SP,

2.64/0.21 gpm (10/0.8 L/min), 24 VAC

2.64/0.34 gpm (10/1.3 L/imin), 24 VAC
2.64/0.66 gpm (10/2.5 Limin), 24 VAC
2.64/0.87 gpm (10/3.3 L/min), 24 VAC
2.64/0.87 gpm x 2 (10/3.3 L/min x2), 24 VAC

(included in item 180)

Model CS/NX

- | GS 50

1

1

2584488

2584489
2584490
2584491
2587914
2592475

2592476

2593553

2573846

2593554

2584487

2584486

2584499

2584498

2584709

2588535



Nortec GS 50-600

240

\

) B
i

\G=

Figure 2: Nortec GS 100 Humidifier, Plumbing and Electrical.



Item
No.

Item Description

Details

Condair Part
Number

222

225

230

240

245

250

251

255

260

265

270

N/S

N/S

N/S

N/S

SP, Remote Fault Indication Board
Kit consists of:
Basic Fault Remote PCB (qty. 1)
Cable, ribbon 10 pin (qty. 1)
Standoff, support (qty. 4)

SP, GS, Integrated Control Board
Kit consists of:
Screw, M3x8 (qgty. 6)

SP, Transformer, 240 V pri, 120/24 V sec, 250 VA

Kit consists of:
Transformer (qty. 1)

SP, Transformer, 120/240Vpri, 24V sec, 150 VA

Kits consists of:

Transformer (qty. 1)

GS, Ignition Module, 23, 45, 90 kg/h
Kits consists of:

Module, ignition (qty. 1)

SP,

SP, GS, Ignition Module, 65, 130, 195, 260 kg/h

Kits consists of:
Module, ignition (qty. 1)

SP, Hose, 3in ID
Kits consists of:
Hose, 101in, 3in ID (qty. 1)

SP, Hose, 4 in ID
Kits consists of:
Hose, 101in, 4 in ID (qty. 1)

SP, Switch, Air Proving 1.0 in W.C.

Kits consists of:

Switch, air proving diff, 1.0 in WC (qty. 1)
SP, Switch, Air Proving 3.0 in W.C.

Kits consists of:

Switch, air proving diff, 3.0 in WC (qty. 1)
SP, Tubing, Silicon, 0.188 x 30 in

Kit consists of:

Tube 0.188in ID, 30 in (qty. 1)
SP, GS Triple, Quad Exhaust Tube Assembly

Kit consists of:

Assembly, Exhaust Tube (qty. 1)

SP, GS Exhaust Set, Indoor, Quad
Kit consists of:
Assembly, Exhaust Tube (qty. 1)

SP, Clamp, T-bolt, 82.6 mm Nominal Dia.
Kit consists of:
Clamp, T-bolt (qty. 4)

SP, GS Exhaust Header, 200 300 Ib/h
Kit consists of:
Header, exhaust (qty. 1)
Screw (qty. 8)
Nut (qty. 8)
Gasket (qty. 2)
SP, GS Exhaust Header, 450 Ib/h

SP, GS Exhaust Header, 600 Ib/h

SP, 20X Screw, 10-32x0.5 in

Kit consists of:

Screw, Machine, 10-32x0.5 in (qty. 20)
SP, 10X Screw, M4x10

Kit consists of:

Screw, Machine, M4x10 (qty. 10)
SP, 10X O-ring, .9375x.103 in, Sil

Kit consists of:

O-ring (qty. 10)
SP, Tube, 24 in, 1/4 in OD, 1/8 in ID Blue

Kit consists of:

Tube, 24 in (qty. 1)

Model CS/NX only

- | GS 50

-GS 100
- | GS 150
- | GS 200
- | GS 300
- | GS 450

[=}
1=}
o
(2]
o
1

2574171

2584708

2592481

2593555

2593558

2593559

2525659

2525660

2593549

2593550

2593561

2592491

2592492

2592494

2593560

2593557

2593556

2592482

2592483

2592484

2592485



N B B .
I:f;n Item Description Details d P P ; bt 0£3$L:fn
: O 0O 0O 0O 0O o O
N/S  SP, 10X Gasket, HX Comb Chamber Flange 1T 1 1 1 1 1 1 2592486
Kit consists of:
Gasket, Flange (qty. 10)
N/S  SP, 10X Gasket, Burner 1 N 1 N 1 . 1 2592487
Kit consists of:
Gasket, Burner (qty. 10)
N/S  SP, 20X Gasket, HX Exhaust Flange 1 N 1 e 1 . 1 2592488
Kit consists of:
Gasket, Flange (qty. 20)
N/S SP, 20X Gasket, Burner Blower 24 VV 1 BN 1 B 1 e 1 2592489
Kit consists of:
Gasket (qty. 20)
N/S SP, 10X Gasket, Sanitary Flange, 3 in, Sil 1 N 1 N 1 . 1 2592490
Kit consists of:
Gasket, Sanitary Flange (qty. 10)
N/S  SP, Clamp, Wing Nut, Sanitary, 3 in, 304 SST 1 N 1 e 1 . 1 2592493

Kit consists of:
Clamp, Wing Nut (qty. 1)



Nortec GS 50-600




Nortec GS 50-600

170 —

170

205

Figure 4: Nortec GS Humidifier, Kit Details, continued...

Note: Greyed out items are not a part of the kits.





